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ECONOMICS

( Honours Core )

Paper : ECO-HC-6026
( Development Economics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
@ 2PTRd Bed i

(a) Define fertility rate.
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(p) What is microfinance?
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(2)

() Mention one impact of land-tenure

(d)
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(h)
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system.
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What is rural-urban migration?
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(3)

(i) Mention one contribution of agriculture
to the process of economic development.
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() Write one cause of gender inequality in
a family.
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Answer the following questions :
oo 2PPTRa Bl i
(a) Define globalisation.

s wiget |

(b) What is the relationship between the
age structure of a population and its
dependency ratio?
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(c) What are the types of environmental
externalities?
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(4)

d ; ;
(d) Why is Sustainability of re
resources important? TR
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() What is landlord-tenant relationship?
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(c) Explain i
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(d) Briefly discuss the major eras of
globalisation in the last 150 years.
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(e) Explain the factors which influence
individual behaviour in an organisation.
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() What is fertility gap’? Explain the
fertility gap in terms of Leibenstein

theory of population.
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4. Answer the following questions :
oo 2ppTgEd e fra

(a) Discuss the functioning of labour

10x4=40

market in agrarian society. "
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Explain the demographic transition
during the process of development. 10
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(b)

(c)
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(6)

‘Examine Hirschman’s exit
loyality theory ag a ;
organisationa] inefficiency

R o, 2pq e
o ; IS]  Sgh
RIS SO 2iffipmy &mﬁmﬁ%ﬁq qs;‘:

Or/q?W

voice,
response to
10

Dlscuss_ the Impact of globalig
.developmg Countries ip
Internationa] finance

Wﬁﬁ-ﬁﬁﬁmmv <
et e S

ation on
terms of
10

What IS governan
Instruments

: Successfy]
5 ation. 2+8=10

= F1e @It 9 oSy

( Continued )

(@)

A23—3000/680

(7)

In what way common property resource
theory provides a useful framework

for analysing environmental issues? ¥
Explain.
e s TR SE0ORE S{fTIsT®
iR Rewd e e Bl TS
ol e <, 6
Or / g9
5=10
Write short notes on : 5+
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(i) Nutrition and labour productivity
o{ff S ¥ AT
(ij) EconomicC activity and climate
change
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